O0LnuxOOOOOOPDFOOOOOOOOODOOOOO
0000
https://www.100test.com/kao_ti2020/144/2021 2022 E5 AD_A6
_E4 B9 AOLinu_c103 144236.htm26 00 OO OO OO
[ [ 0 O O (server.c) ¥ *xxxxkk/f ginclude #include
#include #include #include #include #include #include int main(int
argc, char *argv[]) { int sockfd,new_fd. struct sockaddr _in
server_addr. struct sockaddr _in client_addr. int
sin_size,portnumber. char hello[]="Hello! Are You Fine?n".
If(argc!=2) { fprintf(stderr,"Usage:%s portnumberan",argv[0]).
exit(1). } if((portnumber=atoi(argv[1])) { fprintf(stderr,"Usage:%s
portnumberan”,argv[0]). exit(1). } /* 0 0O U O O O O O socketd
O O */if((sockfd=socket(AF _INET,SOCK STREAM,0))==-1){
fprintf(stderr,"Socket error.%sna",strerror(errno)). exit(1). } /* 0 [
0 0O 0O O sockaddrd OO */ bzero(amp.server_addr),sizeof(struct
sockaddr))==-1) { fprintf(stderr,"Bind error:%sna",strerror(errno)).
exit(1). }/* 0 O sockfdld OO OO */ if(listen(sockfd,5)==-1) {
fprintf(stderr,"Listen error:%sna",strerror(errno)). exit(1). } while(1)
{FO0000,0000000000 *sin_size=sizeof(struct
sockaddr_in). if((new_fd=accept(sockfd,(struct sockaddr
*)(amp.sin_size))==-1) { fprintf(stderr,"Accept
error:%sna",strerror(errno)). exit(1). } fprintf(stderr,"Server get
connection from %sn", inet_ntoa(client_addr.sin_addr)).
if(write(new_fd,hello,strlen(hello))==-1) { fprintf(stderr,"Write
Error:%sn",strerror(errno)). exit(1). } /0 00000 00O */
close(new fd)./* 0 0O 0O O O */} close(sockfd). exit(0). } 100Test
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